F1 Predictions

Our Parent Crosses consisted of:


Vial 1 =    ____________  x _____________     Vial 2 =    ____________  x  _____________

Genotypes for these:   __________  x  ___________
      Genotypes: 
   __________  x  ___________
Part I:  If the gene for eye color and vestigial wing is on an Autosome (non-sex chromosome),…

Autosomal Hypothesis 1:

If the mutation for ________________  (      ) is Dominant and wild (+) is recessive, then…

(draw Punnett square/s here - 2 if have reciprocal cross)

   ….then phenotype % will be ________________________________________________________

            and genotype % will be ________________________________________________________

Autosomal Hypothesis 2:
If the wild (+) is Dominant and ________________  (      ) is recessive, then…

(draw Punnett square/s here – 2 if have reciprocal cross)

   ….then phenotype % will be ________________________________________________________


and genotype % will be ________________________________________________________

Part II:  If the gene for eye color and vestigial wing is sex-linked on the X chromosome,…
(P1 Female Flies = X+X+,  XwXw,  XvgXvg
    P1 Male Flies = X+Y,  XwY,  XvgY)

Sex-Linked Hypothesis 3:

If the mutation for ________________  (      ) is Sex-linked and Dominant and wild (+) is recessive, then ….







(Punnett sq. for mutation on Female)




(Punnett sq. for mutation on Male)

   ….then phenotype % will be: 



    ….then phenotype % will be:

__________________________________


_________________________________ __________________________________


_________________________________     


and genotype % will be:




           and genotype % will be:

__________________________________


_________________________________

__________________________________


_________________________________

Sex-Linked Hypothesis 4:

If the wild (+) is Sex-linked and Dominant and the mutation for ________________  (      ) is recessive, then ….

(Punnett sq. for mutation on Female)




(Punnett sq. for mutation on Male)

….then phenotype % will be: 



    ….then phenotype % will be:

__________________________________


_________________________________ __________________________________


_________________________________     


and genotype % will be:




           and genotype % will be:

__________________________________


_________________________________

__________________________________


_________________________________

